
VLA_UNIT 31 
Rate of Change; Inequalities    

Question 22 
 

 

Number of Teams 1 2 3 4 5 6 7 8 9 

Number of Games 0 1        
 

a.  If there were 3 teams, _____ would be played. 

b.  If there were 4 teams, _____ would be played. 

c.  If there were 5 teams, _____ would be played. 

d.  If there were 6 teams, _____ would be played. 

e.  If there were 7 teams, _____ would be played. 

f.  If there were 8 teams, _____ would be played. 

g.  If there were 9 teams, _____ would be played. 

  h.  If there were 12 teams, _____ would be played. 

 
 
 
 
 


